Dear Parents/Carers,

This powerpoint takes the children through the learning
sequence. If possible please talk through the slides with
your child and check their understanding. The slides
start at a basic level to re-cap previous learning.

Consolidation of
multiplication and division

29.6.20
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| 2x7=14 |

| 4x8=32 |




Descriptive Teaching

Circle the symbol to make the sentences correct.




Descriptive Teaching - Answer

Circle the symbol to make the sentences correct.
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Descriptive Doing

True or false?

4446




Descriptive Doing - Answer

True or false?

4446

False; both arrays show é.




Reflective Teaching

Look at the bar models.

Use <, > or = to make the sentence correct.

4laala4lda] () [5]5]5[5]55

333[3[3[3] () [4]a]4]4




Reflective Teaching - Answers

Look at the bar models.

Use <, > or = to make the sentence correct.

4laa444l4 (<) [5]5/55/5/5

3[33[3[3]3] (>) [4]4]4]4




Reflective Doing

Use <, > or = to complete the number comparison sentences.

qa. 3x8 5x4

c. 6x3 48 + 3




Reflective Doing - Answers

Use <, > or = to complete the number comparison sentences.

a'

3x8

32+8

6x3

5x4

24 + 6

48 + 3

If 6 + 4 =10,

60 + 40 = 100.

It is 10 times
bigger.




Independent work

The following slides are questions for you to work through
independently.

There are 3 sets of work - 1 chili (the easiest), 2 chilies, 3
chilies (the hardest). Choose one set you feel most
comfortable with.




Independent work

1a. Circle the symbol to make the
sentences correct.

n v A

n v A

WF

1b. Circle the symbol to make the
sentences correct.

n v A

n v A




Independent work j

VUV 7)) VYOV | 2299
7 |




Independent work

3d. Look at the bar models. Use <, = or =
to make the sentence correct.

333304444

WF

3b. Look at the bar models. Use <, > or =
o make the sentence cormrect.

5550




Independent work

4a. Use <, > or = to complete the number | 4b. Use <, > or = to complete the number
comparison sentences. compadrison sentences.

a. 5x2 2x5 a. 5x4 4x5

b. 4x4 5x3 b. 2x3 4x3

c. 2x4 J3x4 c. 5x5 4x6
¢ |97




Independent work

5a. Circle the symbol to make the
sentences correct.

n v A

n v A

WF

5b. Circle the symbol to make the
sentences correct.

n v A

n v A




Independent work j j

&a. True or false?
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&b. True or false?
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Independent work

7a. Look at the bar models. Use <, > or =
to make the sentence correct.

alalalala[a]O[e]66]6

616661 ()[8l8]8]8

A |

7b. Look at the bar models. Use <, > or =
o make the sentence correct.

ala]a]a[a]a]a] O [6

alalala](Oa
|57




Independent work

8a. Use <, > or = fo complete the number | 8b. Use <, > or = to complete the number
comparison senfences. comparison sentences.

a. 5x8 6x4d a. 3x8 x4

b. 324 24 = 4 b. 36+4 24 +2

c. 3x4 24 =2 c. 3Ixd 48 = 6
& |y 3




Independent work

Yy y

?a. Circle the symbol to make the
sentences correct.

nh v A

n v A

?b. Circle the symbol to make the
sentences correct.

nh v A

n v A
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Independent work j}j
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10a. True or false?

\




Independent work

11a. Look at the bar models. Use <, > or= | 11b. Look at the bar models. Use <, > or =
to make the sentence cormrect. o make the sentence cormrect.

s[s[8[8[8[a] () [8[8[8][8 8 8 1(O[a]4

????066&666 444444440?
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Independent work

12a. Use <, > or = to complete the
number comparison sentences.

a.

3xé

28 +4

8x4

48 + 6

8x2

16 +4

6Xé

16 +2

WF

12b. Use <, > or = o complete the
number compadarison sentences.

30<6

&x7

36+6

4 x4

8x2

8x4

364




Answers

Developing
la. » <

2a. False: 6 <8
3a. <
da. =, > <

Expecied
5a. >, <
ba. True
7a. = <
8a. > = =

Greater Depth

a. =, =

10a. False:; 16 < 18
11a. =, <

]Eﬂ_ :"_ }J {; =

Developing

1b. <, <

2b. False: 12 = 8
3b. <

4db. = <, >

Expecied

5b. <, <

&b. False;: 8 > &
7b. > <

8b. <, <, >

Greater Depth
9b. <, =

10b. True

11b. =, <

12b. <, >, =, >




Reflection Time

Mark has some colouring pencils.

When he puts them into 3 pencil pots he has none left over
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He has fewer than 19 pencils in total.

How many pencils could be in each pot?




Reflection Time - Answers

Mark has some colouring pencils.

The answer will be a
multiple of 3 (in the
When he puts them into 3 pencil pots he has none left over.

3x table) but less
than 19.

V . 5

He has fewer than 19 pencils in total.

How many pencils could be in each pot?

Possible answer:

O.—-.(u‘-.‘
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5 pencils in each pot




